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Homework 4.3 
 

For exercises 1 – 4, list the possible rational roots of the given function.  Then, find all roots, real and/or imaginary, of the 
function.  Leave all answers in lowest terms and exact form. 

1.  ℎ(#) = 6#! − #" − 6## − # − 12 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2.  1(#) = 6#" + 19## − 11# − 14 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3.  ℎ(#) = 3#! − 8#" − 12## + 24# + 9 
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4.  1(#) = 3#" − 2## + 5# + 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
The graph of a quintic polynomial function, p(x), is shown to the right.  Use the graph to answer questions 5 – 8. 
 
5.  If a is the leading coefficient of the equation of p(x), is a < 0 or 
     is a > 0?  Give a reason for your answer. 
 
 
 
 
 
 
 
 
6.  How many roots of p(x) are imaginary?  Give a reason for your answer. 
 
 
 
 
 
 
 
 
 
 
7.  If c is the constant term of the equation of p(x), what is the value of c?  Give reason for your answer. 
 
 
 
 
 
 
 
 
 
8.  Is it possible that there are four sign changes in the equation of p(x)?  Give a reason for your answer. 
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